



1. Resolver la siguiente “sopa de letra” teniendo en cuenta los productos notables.

a. $(x - 6)^2 =$	h. $(x + 2)(x - 6) =$
b. $(x + 8)^2 =$	i. $(x - 5)(x - 7) =$
c. $(x + 6)(x - 6) =$	j. $(x - 10)(x - 8) =$
d. $(x + 10)(x - 10) =$	k. $(x - 3)(x - 7) =$
e. $(x + 4)(x - 6) =$	l. $(x + 6)(x - 11) =$
f. $(x + 5)(x - 2) =$	m. $(x - 2)(x - 10) =$
g. $(x - 7)(x - 6) =$	n. $(3x + 1)(3x - 1) =$

-9	x^2	x^2	$-10x$	x^2	$+3x$	-10
x^2	$-13x$	$-12x$	x^2	$-x$	x^2	$-18x$
$-12x$	42	+20	5	-36	12	x^2
+35	x^2	$-50x$	x^2	78	x^2	$-5x$
x^2	x^2	x^2	$-2x$	-67	$-5x$	-66
x^2	$-18x$	x^2	$-12x$	+36	-14	12
$9x^2$	+80	-2	x^2	-9	x^2	10
-1	20	x^2	5	x^2	$-13x$	+42
3x	-4	x^2	x^2	5	3x	5
x^2	$-2x$	-7	-42	10	x^2	-7
-24	x^2	-5	$-9x$	x^2	+16x	+64
x	56x	x^2		-100	56	$-x^2$
x^2	$-4x$	-12	-12	x^2	$-5x$	x^2
$-10x$	x^2	$-12x^2$	19	x^2	-3	9
+21	$9x^2$	x^2	12	x^2	+3x	-10
x^2	$-8x$	$13x^2$	x^2	7	2x	8